[image: image1.png]Megel

MTE 3 -2c0s
O bov{ozn Lﬁf{f?«f.’:“’ (f
- BTU
@ 3}{& ]O?} ] T_\E th?n&\’*“wg =42 X/O;z}éicav{
ol

30020 IO‘S% = QTOTF’K'L EEQ}\&::(&,ED = (l_g)\/({z X/ﬁ?‘gf@ f)

Voo = (13) (4.2 07 keaf)

{‘ﬂ M
L}ozg ETU] i: 0.252 Keal
IBTU

= 2 l )uo {343
S — ”“m T — R
T _ ! c
SRS ey
P e Tw,y_
0.30= | - l.::__ww____ “\

(2%3+550yK T, = Sk

Y S
foswre ]~ Tz - #86.3K |

He = ‘8%6.3 K |

= 613.3C
No+ /Lt'f’ecp.





[image: image2.png]_ (8 (90
,grwe% = k- el H: #C)

;Q(Wfﬂ

‘ (Rmyz" (1 m)*

RsQxint Nu*
c=

Ters 4Ry N - 3g9qn- ~21.48 N
dowonfl \e'@ﬁ%?

T T RSP 10*w) (§w; ii‘m\)

Q- 0.9 M‘\;?
“ S —me%“ - C?“ e et
- 1.5 1
al ey Vel
|




[image: image3.png]MTE3-2005
@ (% Y m 1)
-2Q ¥ Q o
E- - k28 4+, Q
(Z_M) (\M)I =
E= _, @
kv R - axos k@
~ K [ il e
=00 1 ( o,mi—w} g Mu,; as discassel i “{‘?‘t‘:fj

! {

;Q\: heak veed 4o - Lon -5 S Ooc

Q‘L: Cj’/\»o-‘::}e ‘\Bcﬁi»- ] !c?mt i %f%m C)QC
Qg: i/\ﬁ;«?i” \é7u§<i fv@% o°C 4= 25 °C

@ o
Mo'(’f’. : : A% ree. C,,(,\_m/%}c: C = gjl‘;a-?‘/éﬁ C«(;\mq e mK .
i 4

"

Q.= o.S§ keal N / (eolegq) / 5‘1<> 295 keal

kjaa:s& L

]

Q.= ‘ &0 kc“ ) (oo kj)

00O ica

< ;‘f\),OO

Gk = 10 FF5 kc«é’




[image: image4.png]MQC‘J- w:’/Q @
MTES - 2005
= (S.O m) _

/
N A

Yo = S, W u—
2 .. B0
Re 825

- =7 V=T, = 2%V
M X ‘ <z PN
Q& 2 Go 0.6 A

Vs = (0.68)(255): Iy )

T

@ o dB ~70d} = sod¥

o dd = 10 | E‘”“Asicﬂ,
3}\@ .

s st i e ) \I'%"v‘«{?‘tr‘tt
}OS' - IWMAQEQ \i

T ratlr o /




[image: image5.png]NG

MTE2 - Z00s

| |
I T e AAA

R 27

it
N

25V ety Z 5 |52
L G PR S SRRV 7 B =y D

w‘zz-ﬁﬁ,‘;;
o pansion

»
1




